Centro Dep.

Material

TxtBreveMaterial

Prateleira UMB

0012 | OBSO | 6034825 SELO REG TEMP MOT 88-132'C AERA 10730100 06E PC
0012 | OBSO| 8001412 ANEL BORR MB A0089976145 06E PC
0012 | OBSO | 8001417 ANEL LIND 9630501 06E PC
0012 | OBSO| 8001419 ANEL LIND 0009632101 06E PC
0012 | OBSO | 8001421 ANEL PARKER 2032 06E PC
0012 | OBSO| 8001425 ANEL PARKER 6224 06E PC
0012 | OBSO | 8002039 ANEL VW TE3198307 06E JG
0012 | OBSO| 8002943 ANEL MERCEDES 3520300424 06E JG
0012 | OBSO | 8004073 ANEL FORD NEONNB500AA 06E PC
0012 | OBSO| 8004380 ANEL VED MB 0069972548 06E PC
0012 | OBSO | 8004898 ARRUELA CAT 7W4486 GENUINO 06E PC
0012 | OBSO| 8008105 BRACO SUNDSTRAND 502976 06E PC
0012 | OBSO | 8010029 BUCHA MB 4031550250 06E PC
0012 | OBSO| 8011137 CALCO SUNDSTRAND 367631 06E PC
0012 | OBSO | 8017323 EIXO SUNDSTRAND 9800204 06E PC
0012 | OBSO| 8017494 EIXO MERCEDES 1250308007 06E PC
0012 | OBSO | 8025936 LINGUETA ARR MB 3362680143 06E PC
0012 | OBSO| 8026150 LUVA LINDE 5203232102 06E PC
0012 | OBSO | 8026169 LUVA LIND 5303230500 06E PC
0012 | OBSO| 8026170 LUVA BBA LINDE MPV43L N.5 06E PC
0012 | OBSO | 8028943 MOLA SCANIA 523469 06E PC
0012 | OBSO| 8030203 PARAFUSO MB 3269900001 06E PC
0012 | OBSO | 8031542 PARAFUSO SCANIA 812524 06E PC
0012 | OBSO| 8031622 PARAFUSO MB 3469900719 06E PC
0012 | OBSO | 8032979 PINO MB 3852621074 06E PC
0012 | OBSO| 8033813 PLACA COMMERCIAL 3150017000 06E PC
0012 | OBSO | 8033834 PLACA COMMERCIAL HC20099 06E PC
0012 | OBSO| 8035153 PORCA MB 3362640033 06E PC
0012 | OBSO | 8036159 PRESILHA MB 71805010402 06E PC
0012 | OBSO| 8036186 PRESILHA SCANIA 374013 06E PC
0012 | OBSO | 8040608 ROLETE MB 005402004203 06E PC
0012 | OBSO| 8041012 VALVULA MB 3520531631 06E PC
0012 | OBSO | 8041728 SOQUETE GM GM 06E PC
0012 | OBSO | 8043424 TAMPA MB 0002642111 06E PC
0012 | OBSO | 8043442 TAMPA MB 3522030174 06E PC
0012 | OBSO| 8044920 TRAVA MB 005417085001 06E PC
0012 | OBSO | 8045903 TUBO MB 3520102566 06E PC
0012 | OBSO| 8047096 VALVULA MB 3121880032 06E PC
0012 | OBSO | 8051490 ANEL ELAS MB 9949835 06E PC
0012 | OBSO| 8067311 BUCHA ACOP MB 0000770150 06E PC
0012 | OBSO | 8072084 ARRUELA MB 3212622562 06E PC
0012 | OBSO| 8075374 ROLAMENTO COMPRES AR ROYCE RC250020 06E PC
0012 | OBSO | 8075427 ANEL MB 900055058300 06E PC
0012 | OBSO| 8080116 MOTOR MOTOR GM 93341994 06E PC
0012 | OBSO | 8080214 TAMPAO MB 007604014106 06E PC
0012 | OBSO| 8081573 PRESILHA SCANIA 1120377 06E PC
0012 | OBSO | 8082461 CALCO VW 2RK107119 06E PC
0012 | OBSO | 8082656 SOLENOIDE SOLEN GM 93297794 06E PC




0012 | OBSO | 8088215 MOLA BALANC MOTOR MB 3129934701 06E PC
0012 | OBSO| 8091140 CONEXAO MERCEDES 0079974172 06E PC
0012 | OBSO | 4000573 ANEL CIL HASTE 1"X1.3/8" ESP 3/16" 06E PC
0012 | OBSO| 4011213 KIT VED CIL PORTA FERRAMENTAS 06E PC
0012 | OBSO | 4000446 ANEL "N" COMPRESSOR AR4B65146 06E PC
0012 | OBSO| 4005082 CONECTOR MAC 4V 6,3MM 06E PC
0012 | OBSO | 4010292 GRAMPO SUNDSTRAND 648402 06E PC
0012 | OBSO| 4010647 INDICADOR PRES SC 530763 06E PC
0012 | OBSO | 4010902 JUNTA COMPRESSOR AR TF3145647 06E PC
0012 | OBSO| 4013026 MODULO IGNI STIHL 4001306 06E PC
0012 | OBSO | 4013686 PASTILHA DESLIZ ZF 1297306028 06E PC
0012 | OBSO| 4014887 POLIA FF 42A002165002 TURBINA 06E PC
0012 | OBSO | 4014939 POLIA STIHL 11171901010 06E PC
0012 | OBSO| 4015755 REGULADOR TENSAO FIXO 15V 1A 06E PC
0012 | OBSO | 4096466 ANEL ANDRADE 11071 06E PC
0012 | OBSO| 4098112 ANEL VED ANDRADE 11066 06E PC
0012 | OBSO | 4104554 ROSCA POST Al AUST UNC DIN 13 3/8" 06E PC
0012 | OBSO| 6012203 REDUTOR P/COMBIDUR 06E PC
0012 | OBSO | 6014010 SPRAY LUB PTFE ADESIV 250G MARCA AGBA 06E PC
0012 | OBSO| 8086458 MOLA VALV MOTOR HIDR EATON 6464000 06E PC
0012 | OBSO | 8097124 KIT VEDACAO RESFRIAR 1010559 06E PC
0012 | OBSO| 4009388 FLANGE VED TRAS MOTOR AT 1000068103171 F 06E PC
0012 | OBSO | 4009931 GAXETA EMBOLO PISTAO PLATAFORMA 2" 1/4" 06E PC
0012 | OBSO| 4010175 GAXETA U POL/MOL 1.1/2X2X1/4" 06E PC
0012 | OBSO | 4011054 JUNTA VED 200419 06E PC
0012 | OBSO| 4033090 PRESILHA FIX AEROQUIP 1F40105010C 06E PC
0012 | OBSO | 6000341 ADESIVO PRIMER 10ML PR ESSEX 5500AS 06E PC
0012 | OBSO| 6000499 ANEL 28,8X2,8MM LUCIENE 6334110 06E PC
0012 | OBSO | 6000503 ANEL MOTOCANA 17000040 06E PC
0012 | OBSO| 6000506 ANEL 70926622 06E PC
0012 | OBSO | 6000531 ANEL BORR B VICKERS 00100043 06E PC
0012 | OBSO| 6000559 ANEL COMANDO LUCIANE 2386780 06E PC
0012 | OBSO | 6000640 ANEL FELTRO COLUNA DIREC 3620473 06E PC
0012 | OBSO| 6000648 ANEL GAXETA KNORR 4B57044 06E PC
0012 | OBSO | 6000656 ANEL GUIA EMBR AT1000 085311113B 06E PC
0012 | OBSO| 6000658 ANEL HIDR 89845951 06E PC
0012 | OBSO | 6000673 ANEL FNH 14453581 06E PC
0012 | OBSO| 6000801 ANEL ORING 3924 06E PC
0012 | OBSO | 6000816 ANEL ORING 6016 06E PC
0012 | OBSO| 6000818 ANEL ORING 6085 06E PC
0012 | OBSO | 6000819 ANEL ORING 6145 06E PC
0012 | OBSO | 6000824 ANEL ORING 6636 06E PC
0012 | OBSO | 6000825 ANEL ORING 6743 06E PC
0012 | OBSO | 6000855 ANEL O NBR 70SHA 107X5,33MM 06E PC
0012 | OBSO | 6000859 ANEL O NBR 70SHA 120X5,33MM 06E PC
0012 | OBSO| 6000940 ANEL O NBR 70SHA 36X3,53MM 06E PC
0012 | OBSO | 6000941 ANEL VED ZF 634314021 06E PC
0012 | OBSO | 6000966 ANEL O NBR 70SHA 59,2X5,33MM 06E PC
0012 | OBSO | 6000994 ANEL O NBR 70SHA 3MM 06E PC
0012 | OBSO | 6001011 ANEL O NBR 70SHA 9,19X14,43MM 06E PC




0012 | OBSO | 6001522 ARRUELA PRESSAO NORM A1070 18MM BICR 06E PC
0012 | OBSO| 6001603 ARRUELA VED COMANDO 5164 06E PC
0012 | OBSO | 6001604 ARRUELA VED FIAT 10296585 06E PC
0012 | OBSO| 6003927 CAPA TERM HIDR PRENS 1/2" AEROQUIP 1SB8 06E PC
0012 | OBSO | 6004516 CHAVETA A 12X8X40MM 06E PC
0012 | OBSO| 6004517 CHAVETA A 8X7X32MM 06E PC
0012 | OBSO | 6004533 CHAVETA MOTOR TRW 5/16X7/8 06E PC
0012 | OBSO| 6004535 TRAVA RANDON 301000777 06E PC
0012 | OBSO | 6005099 CORPO ESAB 0550665003029 06E PC
0012 | OBSO| 6007108 JUNCAO SP PVC BSP 1" BR 06E PC
0012 | OBSO | 6007136 JUNTA VED STIHL 41190292300 06E PC
0012 | OBSO| 6007563 LUVA LATAO 3/4" 06E PC
0012 | OBSO | 6007706 LUVA TERM HIDR SP AEROQUIP FC3425-12-217 06E PC
0012 | OBSO | 6007894 ZZMANGUEIRA GAS R12 R14 5/8-16MM P8-12 06E PC
0012 | OBSO [ 6009224 PARAFUSO CUBO TRAS 20X80/90MM 06E PC
0012 | OBSO| 6009598 PARAFUSO FRAN 8.8 16X60MM MA BICR 06E PC
0012 | OBSO | 6010427 PARAFUSO SXT CL8.8 12X85MM MB 06E PC
0012 | OBSO| 6010750 PARAFUSO S/C SXT INT 12.9 8X8MM 06E PC
0012 | OBSO | 6011082 PINO EMBR 3409164 06E PC
0012 | OBSO| 6011858 PRISIONEIRO ACF10.9 10X40MM P1,5 RT 06E PC
0012 | OBSO | 6012296 REPARO MACACO HIDR MANFRO 12T 06E JG
0012 | OBSO| 6012298 REPARO MACACO MANFRO 22T 65MM 06E JG
0012 | OBSO | 6012299 REPARO MACACO MANFRO 32T 06E JG
0012 | OBSO| 6012450 RETENTOR NBR 46,5X35X4,8MM 06E PC
0012 | OBSO | 6012506 RETENTOR ACM 80,2X47,6X19,5MM 06E PC
0012 | OBSO| 6012719 RETENTOR AR CONDIC PROCHASKAR 447041902C 06E PC
0012 | OBSO | 6012760 RETENTOR CUBO RODA 01439 06E PC
0012 | OBSO| 6012816 ZZRETENTOR FPM 32X47X10MM Bl 02950BRGF 06E PC
0012 | OBSO | 6012925 RETENTOR NBR 152,4X114,3X12,7MM 06E PC
0012 | OBSO| 6013224 ZZRETENTOR NBR 38X60X13/17,7 AH 00049BAG 06E PC
0012 | OBSO | 6013374 RETENTOR NBR 76,1X55,4X12,7MM 06E PC
0012 | OBSO| 6013498 RETENTOR NBR 135X120X12MM 06E PC
0012 | OBSO | 6013543 RETENTOR NBR 144,5X98,4X19MM 06E PC
0012 | OBSO| 6013620 RETENTOR VELOC TE33115992990544 06E PC
0012 | OBSO | 6013627 RETENTOR VIRABR 1102220 06E PC
0012 | OBSO| 6013634 RETENTOR WYLERSON 08007 06E PC
0012 | OBSO | 6013645 ZZRETENTOR WYLERSON 60571 06E PC
0012 | OBSO| 6014447 TERMINAL REU FG C902 M36X2MM 06E PC
0012 | OBSO | 6014469 TERMINAL PRE FG90 M45X2MM 06E PC
0012 | OBSO| 6014522 TERMINAL HIDR AEROQUIP 1A25DF16 06E PC
0012 | OBSO | 6014544 TERMINAL PRE FR 41,402MM 06E PC
0012 | OBSO | 6014545 TERMINAL PRE F90 41,402MM 06E PC
0012 | OBSO | 6014555 TERMINAL PRE MAC M36X2MM 06E PC
0012 | OBSO| 6014556 TERMINAL PRE FR 2" 06E PC
0012 | OBSO | 6014575 TERMINAL PRE FG90 1.5/16"-12FPP 06E PC
0012 | OBSO| 6014577 TERMINAL PRE FG90 M36X2MM 06E PC
0012 | OBSO | 6014579 TERMINAL HIDR CV AEROQUIP 1BA24FJB24 06E PC
0012 | OBSO| 6014593 TERMINAL PRE FGR M52X2MM 06E PC
0012 | OBSO| 6014614 TERMINAL PRE FGR M36X2MM 06E PC
0012 | OBSO | 6014618 TERMINAL PRE FGR M36X2MM 06E PC




0012 | OBSO | 6016987 PARAFUSO SXT CL10.9 12X135MM MA 06E PC
0012 | OBSO| 6018340 TERMINAL PRE PG 1.5/8" 06E PC
0012 | OBSO | 6026360 PARAFUSO ABA TORX 10.9 8X50MM 06E PC
0012 | OBSO| 6026363 PARAFUSO ABA TORX 8.8 8X50MM 06E PC
0012 | OBSO | 6026364 PARAFUSO ABA TORX 8.8 8X25MM 06E PC
0012 | OBSO| 6026635 PRISIONEIRO ACP 8.8 10X28MM P1,5 06E PC
0012 | OBSO | 6026994 ANEL VED TRU SEEL OR325T 06E PC
0012 | OBSO| 6031455 PARAFUSO CIL ALL CL8.8 4X10MM 06E PC
0012 | OBSO | 6034366 COTOVELO HID 1.5/8X12 AEROQUIP 20622020S 06E PC
0012 | OBSO| 6041074 TERMINAL PRE MG 1/2" 06E PC
0012 | OBSO | 8000292 ABRACADEIRA MWM 922909770244 06E PC
0012 | OBSO| 8002395 ANEL TRAVA ZF 730361046 06E PC
0012 | OBSO | 8004182 ANEL VED BOSCH 2440109005 06E PC
0012 | OBSO | 8004956 ARRUELA MWM 632703403014 06E PC
0012 | OBSO | 8006395 ASSENTO VALV TROCAD CALOR CMS 0179063 06E PC
0012 | OBSO | 8007045 BICO INJ COMB BOSCH 0434200001 06E PC
0012 | OBSO | 8008396 BRONZINA 0,75MM METAL LEVE BB205) 06E JG
0012 | OBSO| 8008653 BUCHA YANMAR NS5061521 06E PC
0012 | OBSO | 8008701 BUCHA YANMAR NS9011250 06E PC
0012 | OBSO| 8008710 BUCHA YANMAR NS1128460 06E PC
0012 | OBSO | 8008775 BUCHA MWM 92290430014 06E PC
0012 | OBSO| 8009703 BUCHA METALPO KB08502 06E PC
0012 | OBSO | 8009730 BUCHA SINT BOSCH 2000301026 06E PC
0012 | OBSO| 8009752 BUCHA METALPO 8402 06E PC
0012 | OBSO | 8009779 BUCHA METALPO 0892X 06E PC
0012 | OBSO| 8009899 BUCHA TOYOTA 9002381010 06E PC
0012 | OBSO | 8010197 BUJAO MWM 922903270054 06E PC
0012 | OBSO| 8013331 CHAVETA VIRA YANMAR NS1121290 06E PC
0012 | OBSO | 8014155 CONDENSADOR BOSCH 9231081465 06E PC
0012 | OBSO| 8014623 EIXO YANMAR NS1111521 06E PC
0012 | OBSO | 8014691 VALVULA WAYNE ML2280 06E PC
0012 | OBSO| 8017078 EIXO BBA INJ BOSCH 2423002011 06E PC
0012 | OBSO | 8017959 ELEMENTO FILTR AR INT MANN-FILTER CF1150 06E PC
0012 | OBSO| 8021968 GOVERNADOR CJ YANMAR NS1161000 06E PC
0012 | OBSO | 8022611 GUIA VALV ADM/ESCAPE 3901187 TE3103419 06E PC
0012 | OBSO | 8024094 JUNTA MWM 922508510014 06E PC
0012 | OBSO | 8024113 JUNTA COMANDO BBA SUNDS 90R100 06E PC
0012 | OBSO| 8024983 JUNTA SC 351197 06E PC
0012 | OBSO | 8025226 REPARO KIT TRW 29150290 06E PC
0012 | OBSO| 8025736 LENTE RANDON AF045 06E PC
0012 | OBSO | 8027100 MANGUEIRA FNH EITN8548AA 06E PC
0012 | OBSO| 8028014 MANGUEIRA FNH FONN6N746AA 06E PC
0012 | OBSO | 8028015 MANGUEIRA TUBO FNH 98421377 06E PC
0012 | OBSO| 8032049 PINHAO IMPUL BOSCH 9001082362 06E PC
0012 | OBSO | 8033597 PISTAO SCHULER 51553 06E PC
0012 | OBSO| 8034601 POLIA 2 CN BOSCH 9122080295 06E PC
0012 | OBSO | 8034745 POLIA TENS YANMAR NS1144800 06E PC
0012 | OBSO| 8035314 PORCA FIAT 12164427 06E PC
0012 | OBSO | 8036030 SUPORTE BOSCH 2413371139 06E PC
0012 | OBSO | 8036972 REGULADOR VOLT ALT BOSCH 1197311030 06E PC




0012 | OBSO | 8039261 RETENTOR NS1102220 YANMAR 06E PC
0012 | OBSO| 8046333 TUBO YANMAR NS7559143 06E PC
0012 | OBSO | 8046718 VALVULA MWM 904527420025 06E PC
0012 | OBSO| 8047645 VELA IGNI NGK BP6ES 06E PC
0012 | OBSO | 8050433 JUNTA MWM 922908530754 06E PC
0012 | OBSO| 8060520 RETENTOR PARKER 3912883096 06E PC
0012 | OBSO | 8065573 MOLA YANMAR NS5051160 06E PC
0012 | OBSO| 8065575 CONEXAO BBA INJ YANMAR NS5059070 06E PC
0012 | OBSO | 8065714 GAXET CHIAPERINI 35737 06E PC
0012 | OBSO| 8065716 ANEL CHIAPERINI 35738 06E PC
0012 | OBSO | 8065764 ANEL VED CHIAPERINI 35733 06E PC
0012 | OBSO | 8068505 ENGRENAGEM MWM 630503710034 06E PC
0012 | OBSO | 8068656 BOTAO TAMPA CABEC MOTOR YANMAR NS5011360 06E PC
0012 | OBSO| 8068657 PORCA YANMAR NS7501221 06E PC
0012 | OBSO | 8069262 BUCHA BIELA PERKINS 31134131 06E PC
0012 | OBSO| 8071160 JUNTA AGRALE 7006006034011 06E PC
0012 | OBSO | 8072653 MOLA COMPR INT MWM 902402202760 06E PC
0012 | OBSO | 8072654 MOLA COMPR MWM 930503420044 06E PC
0012 | OBSO | 8072852 VALVULA AGRALE 7006006006001 06E PC
0012 | OBSO| 8074702 DISTRIBUIDOR TUBO OLEO SC 1388734 06E PC
0012 | OBSO | 8077896 MOLA DESCOMPRES CABEC YANMAR NS5003640 06E PC
0012 | OBSO| 8077899 GUIA YANMAR NS5054130 06E PC
0012 | OBSO | 8077900 CHAVETA BBA INJ MOTOR YANMAR NS1176490 06E PC
0012 | OBSO| 8077913 TRAVA YANMAR CS14 06E PC
0012 | OBSO | 8078481 BUCHA MWM 961004320034 06E PC
0012 | OBSO| 8078749 ANEL AGRALE 7006003019007 06E PC
0012 | OBSO | 8078763 JUNTA AGRALE 7006012002002 06E PC
0012 | OBSO| 8078765 BUJAO AGRALE 7003001008009 06E PC
0012 | OBSO | 8080740 GUIA YANMAR NS5011161 06E PC
0012 | OBSO| 8080741 VALVULA YANMAR NS5011100 06E PC
0012 | OBSO | 8080742 VALVULA YANMAR NS5011110 06E PC
0012 | OBSO | 8080774 BALANCIM YANMAR NS5011520 06E PC
0012 | OBSO | 8080775 BALANCIM YANMAR NS5011532 06E PC
0012 | OBSO| 8080776 CANO YANMAR NS5059802 06E PC
0012 | OBSO | 8080779 ROTOR YANMAR NS5032140 06E PC
0012 | OBSO| 8080781 EIXO YANMAR NS5061321 06E PC
0012 | OBSO | 8080787 RETENTOR NBR 62X45X8MM 06E PC
0012 | OBSO| 8087520 CHAVE YANMAR NS1114190 06E PC
0012 | OBSO | 8087521 ESPACADOR YANMAR NS5051450 06E PC
0012 | OBSO| 8087937 PARAFUSO SEXT MWM 961003500024 06E PC
0012 | OBSO | 8088975| ENGRENAGEM VIRABR MOTOR MWM 632503710064 06E PC
0012 | OBSO| 8088976 ARRUELA AJUSTE COMP MWM 6922604330014 06E PC
0012 | OBSO | 8102487 PARAFUSO SXT ESP FIX CUMMINS TJG103213 06E PC







Utilizaga
o Livre
70,000
6,000
42,000
8,000
16,000
55,000
1,000
13,000
11,000
1,000
6,000
1,000
2,000
7,000
2,000
2,000
2,000
2,000
2,000
3,000
17,000
2,000
13,000
4,000
1,000
4,000
1,000
4,000
32,000
1,000
115,000
12,000
1,000
3,000
1,000
2,000
1,000
8,000
1,000
7,000
1,000
2,000
3,000
1,000
3,000
1,000
12,000
1,000




19,000

9,000

16,000

7,000

13,000

14,000

3,000

1,000

9,000

1,000

1,000

6,000

2,000

2,000

10,000

4,000

49,000

1,000

2,000

38,000

10,000

4,000

17,000

5,000

10,000

14,000

26,000

61,000

11,000

18,000

5,000

52,000

11,000

13,000

14,000

19,000

25,000

20,000

12,000

62,000

27,000

22,000

64,000

6,000

2,000

5,000

1,000

8,000

29,000

3,000




86,000

2,000

10,000

1,000

59,000

11,000

6,000

9,000

1,000

6,000

2,000

20,000

30,000

2,000

3,000

18,000

1,000

69,000

3,000

2,000

9,000

4,000

7,000

6,000

1,000

10,000

6,000

2,000

5,000

1,000

2,000

3,000

3,000

3,000

2,000

2,000

1,000

6,000

49,000

15,000

90,000

49,000

11,000

9,000

1,000

44,000

2,000

12,000

16,000

8,000




6,000

34,000

32,000

32,000

18,000

16,000

3,000

34,000

5,000

9,000

1,000

1,000

1,000

5,000

2,000

4,000

5,000

1,000

4,000

4,000

12,000

7,000

1,000

3,000

7,000

8,000

4,000

1,000

1,000

3,000

10,000

5,000

6,000

2,000

14,000

3,000

3,000

2,000

2,000

7,000

2,000

1,000

1,000

1,000

5,000

1,000

1,000

1,000

2,000

1,000




1,000

4,000

5,000

2,000

3,000

3,000

5,000

3,000

6,000

6,000

6,000

4,000

5,000

5,000

6,000

2,000

49,000

20,000

1,000

3,000

5,000

1,000

1,000

6,000

4,000

5,000

5,000

2,000

6,000

4,000

4,000

5,000

5,000

3,000

4,000

4,000

2,000

1,000

1,000

6,000

1,000

20,000

11,000







